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IBPS RRB PO Pre 2024 Memory Based Paper 4-Aug-2024

Directions (1-5): Read the given information carefully and answer the questions based on it:

A certain number of persons sit in a row facing north. Five persons sit between P and Q. M sits third to
the right of Q and fourth from an end. The number of persons sit between H and M is same as the number
of persons sit between Q and M. Four persons sit between B and H. D sits sixth to the left of B and third
from an end. G sits fourth to the right of F who sits between D and Q.

3 e TP B AFYd® ufeu ik 39 uR Syt usl & IR i)

T AT e & safdd IR B 3R T B T Ufedd H 96 §1 P 3R Q S ufg afi 98 &1 M, Q
P TS IR TR WM WR 3R fHef T BRI DY W TR I3T 21 H 3R M F o9 98 afdaal &t I, Q
3R M & 19 96 AfFaal &l T H IRISR g1 B IR H P ST IR AGT 93 81 D, B P 918 3R TS I
TR 3R [P T SRIA TR VMR ISR G, F P G5 3R TN RIH R 93718 dUTD 3R Q P S F 97
gl

Q1. What is the position of M with respect to G?
G & ATUE T M BT RITH FTE?

(a) Immediate left / 3l a1U

(b) Second to the left/ EI'I% @Tm

(c) Fourth to the left/ EI'I% 3R T

(d) Second to the right / aTs‘ ehvm

(e) Immediate right / I CALY

Q2. The number of persons sit between D and F is same as the number of persons sit between __
and _.

D 3R F & ¥4 o afdaal @1 6e, _ iR _ & dig 98 Afwal ot 981 & SRIaR |

(a)B,P

(b)QH
(c)B,G

()M, H
(e) P.F

Q3. How many persons sit in the row?

dfek # fba safda 93 &2

(a) 19 ALL EXAMS,

(b) 17 ONE SUBSCRIPTION.

(c) 13 ) =

(d) None of these/ 370 I PIs ol 9y = @
(e) 14
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Q4. Who among the following sits exactly between F and H?

Fafafad A A P F R H P P AT 3182
(@Q
(b) B
(G
(M
(e) P

Q5. Which of the following is true about B?
I. Five persons sit to the right of B

II. No one sits between B and M

[1I. P sits seventh to the left of B

FuffRT A - TTFYTB F IR AT E?
1B TS 3R UG AT 83 &

ILB 3R M P ST ®Is Tei 918

1. P, B & §T3 3R ITdd RIF R 3718

(a) Only I/ hddl |

(b) Only Il/ Had II

(c) Only 111/ ad III

(d) Only I and Il/ Had [ 3R 11

(e) Only I and 111/ %ad [ 3R 111

Q6. If 2 is subtracted from each even digit and 1 is subtracted from each odd digit in the number
“463278293", then which of the following digits will appear more than twice in the new number
thus formed?

Tfe TWAT “463278293” H A YAP IH 3P H | 2 YSHT TT dYT YA fAuH i & | 1 gem™l
we, Y fAufafad & @ $19-31 3id 39 PR a1t 98 J@n 7 & aR ¥ 31f¥e e

(a) Only 6/ Hdd 6

(b) Only 6 and 2/ Had 6 3R 2

(c) Only 2/ &Hdd 2

(d) 6,8 and 2/6, 8 3R 2

(e) None of these/ STH I P13 !

Q7. In the word ‘RESIDUAL, how many pairs of the letters have the same number of letters
between them (both forward and backward direction) in the word as in the alphabet?

Teg ‘RESIDUAL ¥ 31&RT & U fhaw g € formds dta 2reg o 3igRi &1 e (3mt iR i gl
fazmart #) Ia g § forat 39 = 3idieh aufarer A gt 82

(a) Four/ dRR

(b) Two/ Gl

(c) One/ Uch

(d) Three/ dF

(e) None/aﬂgqﬁ
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Directions (8-12): Study the following information carefully and answer the questions given
below:

Eight persons - M, N, O, P, Q, R, S and T were born on the 15% and 2214 of the months January, April, July
and September of the same year, but not necessarily in the same order. No two persons were born on
the same date of the same month.

R was born on even number date in the month having odd number of days. Four persons were born
between R and N. N was born before S. Q was born three persons before S. M and S was not born in the
month of July. As many persons were born before M as after Q. Only one person was born between M
and T. O was born before P but after T.

fFrafafaT SHer &1 wryde siera S iR = few e usl & SR difvrg)

3T AfGT - M, N, 0, P, Q R, S 3R T TH &t a8 & TG, 310d, Jars 3R RydeR T &t 15 3R 22
IRRE &1 UeT T 3, Al ST 81 b 30t o1 § Ul gU 11 Big Ml &1 Afad U &) 7 &1 98
IR &1 U1 781 gU 3

R S 39 HelH & TH T=T aTelt aRRg &1 gafT T ford &1 o1 T faws 81 R $iR N& o9 IR
Hfad U1 gU A1 N HT O S T U g3 UT| Q T 94 S I <fi cifad Ugal g3 AT M 3fR S T S s
& T A TS gon U1l M Y Ugd fora aafd U1 gu 8, S S afdi b a1g UaT gu A M SR T& &
$HId Ueh fad BT oFH g3 UTI 0 BT S P I Ugal Al T o §1G g3 T

Q8. Who among the following person was born on 22" January?
fFafiafad & @ $19-91 fd 22 S8 S Ue1 gaim 412

(a) The one who was born immediately before M./dg fdd St M I 31 Ugad aﬂTEGIT YT

(b) The one who was born three persons before Q./ dg fad o Q J oF Afad ggd aETEGH Cll

(@Q
(d)R

(e) None of these/ 370 4 I3 a8l

Q9. How many persons were born between T and P?
T 3R P & A fHae safaa Uergw?

(a) Five/ Ui

(b) One/Uh

(c) Two/ al

(d) Three/ diH

(e) Four/ dRR

Q10. Four of the following five pairs are alike in a certain way and hence form a group. Who
among the following pairs does not belong to that group?

Frafafed ura gl 4 9 ar te fAfa 0 3 ve o iR 3o ue 99g §91d § |
fraferfEd gl # & $19-91 1 39 G9g | afia T8 &7
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(@) TO
(b) QS
(c)N,M
(d)S,p
@QT

Q11. Who among the following was three persons after 0?
fafafaa 9 9 o149 o & &9 afe arg U

@T

(b) P

()R

(d)s

(e) None of these/ 70 H @15 ol

Q12. Which of the following statements is/are true?
fFrafafaa d A S9-91/3 YT a4 8/8?

(a) N was born after Q./ N I o[H Q %Eﬂ?{@'&ﬂ YT

(b) T was born on 15t July./ T dhTSIH 15 Wﬁg&ﬂ Yl

(c) M was born in the month of April./ M [ s[H GFaﬁﬂ_GﬁeTﬁE\’rﬂ Yl

(d) Five persons were born between R and S/ R 3R s & o= urg afad aﬂT g(¢
(e) None ofthese/g:lﬁﬁm:lﬁ

Directions (13-15): Study the following information carefully and answer the questions given
below:

Nivedita started walking from Point A in the north direction for 8m and reached Point B. From Point B
she turned left and walked for 7m and reached Point C. From Point C she turned right and walked for
5m and reached Point D. From Point D she turned left and walked for 10m and reached Point E. From
Point E she turned left and walked for 13m and reached Point E. From Point F she turned left and walked
for 8m and reached Point G.

Frafafed seR &1 wryde sreau S ok e fou e usi & 3R difom)

frafear foig A O S A= & 8 Hiex 9o Y= fohar iRk fog B R ugd | fofg B 9 a8 S ot 3R 7 Hier
Tt auT fig ¢ R ugdt | fig ¢ ¥ a8 q g8t iR 5 Hiex =reh a1 fig D W ugdt| foig D Y a8 S ST iR
10 Hiex Tl auT fig E TR ug | foig E ¥ 98 ST gt 3R 13 Hiex veh 3R foig F R ugdt| fag F @ ag amg
T3t 3R 8 Hiex Iait 3R fag ¢ R ugat|

Q13. In which direction is Point G with respect to Point A?
fig A ¥ Oy o fag ¢ fra fezmd 32

(a) South/ GI&UT

(b) East/qd

(c) West/ qigq

(d) South-West/ Gf&for-af3y

(e) None of these/ Eqﬁ @ Tﬁé 7'|—E?[
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Q14. What is the total distance travelled from Point G to Point C?
g 6 @ g c 99 TU I 1S Ta g3 fHa-i 82

(a) 28m/28 HIcX

(b) 30m/30 HIcX

(c) 32m/32 Hiex

(d) 36m/36 HIcI

(e) 34m/34 HIcR

Q15. If Point M is 6m to the east of Point A then what is the shortest distance travelled between
Point B and Point M?

mmﬁgmqﬁsmﬂﬁﬁw%aﬁgBaﬁvﬁgwmmﬁngwgﬁ

(a) 12m/12 HIcR
(b) 10m/10 HIcR
(c) 14m/14 B
(d) 16m/16 HIcx
(e) None ofthese/s:lﬁ@a'ﬁ_sc:lﬁ

Directions (16-20): Read the given information carefully and answer the questions based on it:
Nine boxes A, B, C, D, E, F, G, H and I are placed one above the other in a stack (but not necessarily in the
same order as given). The boxes are numbered as 1 to 9 from bottom to top.

Five boxes are placed between box B and box G. Box E is placed just below box G. Three boxes are placed
between box E and box H. Box I is placed just below box H but above box D which is a prime numbered
box. Box C is placed above box A but does not place on topmost position.

3 TS B B AFYdS ufey MR 39 U Sl gl & 3R <iferg)

T STRIA, B, C, D, E, F, G, H 3R 1T TP | (QAfh ool Tal fob 34t oA H 8f oit fob fean @) v &
SR UH TG MU B | 9109 B! Ja -1 T e FW TP 1 9 9 T HHifbd [baT T g |

ST B 3R ST G & &I Ul S1d9 3@ U B | §T1a E &l S1aT G & 31eb 1 AT T 8 | 19 E 3R iy
H & o1 i S1aT 39 U 8| S0k 1 1 1G9 H & 31h =ie Afde ST D & SHUR a1 77 § YT §1akT D
U U ST AT S § | ST € Bl S1dT A & 3 UR 4T 7T § Afp I8 ol SHUR el @ T8 |

Q16. Four of the following five are similar in a certain pattern and related to a group, which does
not belong to the group?

fFrafafaa urg 9 9 IR e fAfda ted § 99 ¢ ik te uyp 9 wdfta 8| R o 9 o9 59
g | Hafe T8 82

(a) F-B

(b) D-G

(c) H-1

(d) A-H

(e) E-C
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Q17. How many boxes are placed between box D and box F?
1T D 3R 97e F & §14 fhaq ST I@ e &2

(a) Two/ @l

(b) Three/ e

(c) Four/dIR

(d) Five/ Ord

(e) Six/ 9%

Q18. Which box is placed exactly between box A and box G?
1T A 3R 91 G & 31 g T BIH-T1 S99 7T T §?
(a) Box H/ ST H

(b) Box I/ STeRT I

(c) Box D/ §II D

(d) Box C/ S C

(e) Box E/ IR E

Q19. Which of the following is correct?

Fafrfea @ sH-aradia?

(a) Box F and box H are adjacent to each other/ ST F 3R STd9 H W—@%% A %
(b) Box E is placed at bottommost position/ I E &Y Hid ardl WI:TEITWTTITIT%

(c) All are correct/ g ﬂﬁ %

(d) Four boxes are placed below box I/ CIESIEEIE] E'REIVWQ@TI'Q %

(e) Box C is placed at even number position/avm C P! IH H=AT AT WF[UTWT‘T{IT%

Q20. Which box is placed immediately below box I?
199 1 & St -1 SIH-I1 91T W1 1 52

(a) Box D/ SN D

(b) Box G/ S G

(c) BoxH/ ST H

(d) Box F/ ST F

(e) Box C/ SR C

Directions (21-23): In the questions below, some statements are followed by some conclusions.
You have to assume everything in the statement to be true even if they seem to be at variance
with commonly known facts. Read all the statements and decide which conclusion will logically
follow from the given statements disregarding commonly known facts.

2 fow e i ¥ 55 FYAl & 916 o e few 1 §1 smust HyY= # €t g Tt 91l @ g
HEAT €, Yal 81 3 gd3rd a) A i welia 81a 81 1| 9t sy &1 ufew oiiv au s fe |a-an
e wd3Ta aul B TeR g Ha gU fau T Sy @ aifhe U & SERuT S|
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Q21. Statements:

All sky are water.

Some water is not blue.

Only a few blue is rain.

Conclusions:

[. Some blue is not rain.

II. All sky can be rain.

DY :

Tl T, arex © |

PO AR, T ¢

HAd FB &, &

e ;

1. %3 & F el 8l

1L 9 1S, BT a7 |

(a) If only I follows/ TS Had [ STTRVI HRT &

(b) If only 11 follows/ Tfe HaT 11 3TN HRT &

(c) If either I or II follows/ Tf¢ AT A 1ATII WW%
(d) If neither I nor II follows/tl'%:ff‘ﬁ [ :fa 1T STFHRUT Hhdl %
(e) If both I and I follow/ TS I 3R 11 Q1T STERTT Rl &

Q22. Statements:

All chair are black.

Only a few black are leather.

Only leather is brown.

Conclusions:

I. Some brown being chair is a possibility.
[1. No black is brown.

DY :

T AR, B T |
$IA PO AP, A g |
Had der, T35
e -

1. $S TS & TR B B TG 'm
IL DI &P, T3 el o
(a) If only I follows/ TS AT I STHUT HRT § ALL EXAMS,

(b) If only II follows/ Tfq Had I SR Dl % ONE SUBSCRIPTION.
(c) If either I or II follows/tl'%ZITFﬁ 1411l GEHTUTWT%

(d) If neither I nor Il follows/tl'%:ﬁﬁl:[_epfll GF;NTUTWT% CD
(e) If both I and II follow/ & 1 3R 11 G} SIIIRUT &R &
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Q23. Statements:

No tower is wave.

All wave is green.

Only a few green is plant.
Conclusions:

I. No wave is plant.

II. Some plant is not tower.
DY :

PIS TR, I eI 8|

Tt 3g, MR

$Had PO U, Wi g

A -

1. 1S d9, Wi T8l g

I. $ Wic, TR Tl g |

(a) If only I follows/ TS Had [ STTRVI HRAT &

(b) If only II follows/ Tfe HaT I 3TN HT &

(c) If either I or II follows/ Tf¢ AT A 1ATII GWWT%
(d) If neither I nor II follows/tl'%:ff‘ﬁ [ '_'Téjf 1T STFHRUT hcdl %
(e) If both I and 11 follow/ Tfd 1 3R 11T WW%

Directions (24-28): Read the given information carefully and answer the questions based on it:
Eight persons A, B, C, D, E, F, G and H sit around a circular table but not necessarily in the same order as
given. Four persons face inside and four face outside.

E sits second to the right of A who faces inside. Two persons sit between E and F who faces opposite
direction as A. Three persons sit between G and C who doesn’t sit adjacent to A. Immediate neighbors
of G face same direction. H sits third to the right of D who faces same direction as A. B faces same
direction as E but does not sit adjacent to F.

3 S AR B AFYd® ufey ik 39 R Smutiia sl & 3R difvrg)

33 A A, B, C, D, E, F, G 3R H U JATHR TSl & IR} 3R 96 &, Al o] el {b d SH HHH 96
g1 o o foam T & | IR Jfad Sfer &1 SR JUT IR ITex Bt 3R 3@ g |

E, AP T8 3R TR R TR 9371 ¢ 94T A 3 P SR ST §1 E 3R F & &1 & Afad 96 § T F, A
&1 famia fo=n @1 iR IH@ 81 G 3R ¢ & &9 IH HAfad 96 8 94T ¢, A & TIF el 9§81 51 G P
Aedn TSRt THH f3=m ®1 3R I=@ &1 H, D & aTg 3R <R ITH TR 937 § a7 D, A Bt 9HH fe=m
&1 3R ST §1 B, E B! GAM MBI 3R IW § Wl F & ATH Tg] 901 5

Q24. How many persons sit between H and G when counted to the right of G?

GH e R A A R H 3R ¢ & fiu fPar aafem 33 7
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(a) None / aﬁé el
(b) One/Th

(c) Three/ i

(d) Four/ dR

(e) Two/ &l

Q25. What is the position of E with respect to C?
C & ATUE H E BT TI RT8?

(a) Fourth to the left/ EI'Ié 3R T

(b) Immediate left/ 3d EILY

(c) Fifth to the right / E'Ié 3R Urat

(d) Third to the right / &T5 MR dTERT

(e) Immediate right / iG] [y

Q26. Which of the following is true about F?
I. F faces outside.

II. Three persons sit between F and D.

[11. B sits immediate right of F.

FP IR A fFaffRTda s araas?
I. F BTG a1 3R B

IL F 3R D & g 9 afad 8

Il B,F & 3% g 9o |

(a) Only I and I1I/ dd I 3R 111

(b) Only 11/ A I

(c) Only I and Il/ %ad [ 3R 11

(d) Only 111/ Had III

(e) Only Il and I/ Had 11 3R I

Q27. Who among the following sits immediate left of G?
FufafeaAd P c F NP argds18?

(@F

(b) B

(A

(dD

(e)E

Q28. Four of the following five are similar in a certain way and related to a group, who among the
following is not related to the group?

frafafeEd ufa # & ar & fAfda afie @ 99 ¢ ok ' a9 @ d6fta 3| Fafafea & 9 o4
99 g 4 et T8l 87
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(@ C
(b)H
(c)F
(d)G
(e) B

Q29. If we form a four-letter meaningful word by using the third, sixth, eighth, and tenth letters
from the left end of the word ‘FREELOADING’, then which of the following will be the third letter
of the meaningful word thus formed. If more than one such word is formed mark X as your
answer. If no meaningful word is formed, mark Z as your answer?

IfE §H ‘FREELOADING’ ¥g & 910 BR ¥ TR, TS, 334 3R U 3I&RT BT ITANT B AR
&R o1 I g g4Td €, O FRuferfaa # A F19-97 &R 39 YR 91 1 g BT TR0
3[R BRI Tfe UF Uap A 31U g d g, df X B U IR & ¥+ A Sifpd Fifomw| afe o
I Uec T8I ST 8, Y Z Y 3 IR & FU A 3ifchd HIforg)

(@ E

(b) N

(c)D

(dX

(e) Z

Directions (30-32): In each of the questions, relationships between some elements are shown in
the statements. These statements are followed by conclusions numbered I and II. Read the
statements and give the answer.

TP UY |, FYI § $© ddl & did G§Y GRITT T § 1 59 Y| & 916 -1spd 1 3R 11 RE e 1
FYI BI UfST 3R IR o]

Q30.Statements: H>1=]J>=K<N,L<N=M<P<Q
Conclusions:

LP>K

II.LL<Q

PYI:H>1=]=2K<N,L<N=M<P<Q

frep:

LP>K

II.LL<Q

(a) If only conclusion [ is true/ﬂ'ﬁm ﬁmﬁ_ﬁh qd %

(b) If only conclusion Il is true/zl'%m ﬁmﬁ_ﬁf 9y %

(c) If either conclusion I or Il is true/ﬁmﬁfﬁwﬁf [T 11 W%
(d) If both conclusions I and II are true/q%ﬁlmv_ﬁh GﬁT I1 Eﬁrw%

(e) If neither conclusion I nor Il is true/ ’Clﬁ"_'[(_‘ﬁ frp | '_'TE')P[ RS %
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Q31.Statements: M>N>0>P>=R,Q<0=L>S
Conclusions:

.S<M

IL.LL>R

PYT:M>N>0>P=2R,Q<0=L>S

e

.S<M

I.L>R

(a) If only conclusion I is true/ﬂﬁ%ﬁ freent 1 I %

(b) If only conclusion Il is true/?ﬂ%m sy 11 g %

(c) If either conclusion I or Il is true/ gfe arat s 1ar 11 9 %

(d) If both conclusions I and II are true/ gfe fase | AR 11 a9 %
(e) If neither conclusion I nor II is true/ gfead sy |1 T8 19d %

Q32.Statements: D<E>F>G=H<[[H=2K<Z=U
Conclusions:

LF>7Z

I[I.D<I

DPYT:D<E>F>G=H<[LH=K<Z=U

e

LF>7Z

II.D<I

(a) If only conclusion I is true/tﬁémﬁ'@ﬁﬁh qd %

(b) If only conclusion Il is true/ df¢ Had sy 11 g %

(c) If either conclusion I or Il is true/zlﬁzﬂ?ﬁ ﬁ'@b_ﬁf IRIBIES ] %

(d) If both conclusions I and II are true/zlﬁ'ﬁmﬂfl 3‘ﬁT I1 ?ﬁ:ﬁ qg %
(e) If neither conclusion I nor Il is true/tlﬁ:f?'ﬁ ﬁ@b—ﬁf | :féjf I9g %

Directions (33-37): Study the following information carefully and answer the questions given
below:

Seven persons - B, C, D, E, F, G and H sit in a linear row and face north. Each one of them likes different
colour- Pink, Green, Red, Yellow, White, Blue and Grey.

F sits third to the right of the one who likes Yellow colour. Three persons sit between the one who likes
Yellow colour and the one who likes White colour. Only one person sits between the one who likes white
colour and D. G sits fourth to the left of D and likes Red colour. The one who likes Grey colour is the
immediate neighbour of G. F doesn’t like Grey colour. Three persons sit between the one who likes Grey
colour and H. The one who sits second to the left of H likes Green Colour. Two persons sit between the
one who likes Green colour and B. H doesn’t like Blue colour. C is not an immediate neighbour of G.

fFrafifad STeR! &7 eyde 3reag ST 3R e fou T8 i & IR i
ITd Afe - B, C, D, E, F, G 3R H T T Ufad T IR P 3R T Hh 98 ¢ | 370 I TAD DI 3{l-
ST [T S- T[arelt, BT, &1, Ui, Yibe, =Hia 3R Widl Ui g |
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F, el 1 URiG - aTel ST b a8 3R TR R R 937 & | Tiell 37 UG b aTet 3IR b 11 UG
H aTd Afdd & & i Afad 96 8 | e 11 TS HRA dTd 3R D & o9 had U Afad 93181 G, D
P I3 3R Y I TR J67 8 3R I 1 T U¥E g1 Wict T U 64 aral Afad 6 o1 Adbedd st
2| F 1 WIe T URiE -Te 1 & | WieT I URig R aTel safer 3R H & a1 - oot 96 8 1 H P a7 3R g
VYT TR S5 dTe) i B g T UG 8 | 83 T IS R aTd afad iR B P S al Aafdd 96 & 1 H P!
AT R TR ¢, 6 BT Fbedd USSR T B

Q33. Who among the following persons likes Pink Colour?

fFrafafaa 7 @ 19 e 31 uwHe Hars?

(a) The who sits second to the left of C/ dg fad Sl ¢ & 91T 3R w R TR ST %
(b) C

(c)H

(d) The one who sit second to the right of E/ 98 Afad S E %31’59 W@%WW%@T%
(e) None ofthese/s:lﬁ@a'ﬁ_sc:lﬁ

Q34. How many persons sit between E and the one who likes Blue?

E 3R a8 =afa R e T wvig 8, & fta fvaq aafaa 93 87
(a) None/?ﬁg :lﬁ

(b) Two/ &

() Three/ di-l

(d) More than three/ T ¥ 3ffde

(e) None ofthese/g:lﬁﬁm:lﬁ

Q35. Which of the following pairs of persons sit at the ends of the row?
Frufefad o @ saferal &1 Si=-91 g ufed & eid A da12?

(a) Gand D/ G 3R D

(b) The one who like white colour and G./ dg OQH\TI ﬁrlﬁ {-Il?bd CU PR3 % 3‘ﬁT G
(c) H and the one who likes blue colour./ H GﬁTa_‘é' W&fﬁlﬁ:ﬂﬂTWW%
(d) Band G/ B 3R G

(e) B and the one who like Blue colour/ B aﬁva's' W&fﬁlﬁ:ﬂﬂTWW%

Q36. Which among the following colour does C likes?

Fafifea i 9 c H - RIC §?
(a) Pink/ T[QTall

(b) Grey/ &ict

(c) Blue/ Hiell

(d) White/ T%g

(e) None of these/ STH A PIS a1
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Q37. What is the position of the one who likes Green colour with respect to D?
D & ATU& | g1 I UG B aTd ATRT BT T HIT 82

(a) Second to the right/ ars 3R QI

(b) Third to the right/ &Ts 3R ERT

(c) Third to the left/ S8 3R TR

(d) Second to the left/ ST 3R G

(e) Immediate right/ icY €Y

Directions (38-40): Study the following information carefully and answer the questions given
below:

There are eight members in a family: S, T, U, V, W, X, Y and Z. The family has three generations in the
family. There is no single parent in the family. U is the brother of W who is the father of V. Z is the paternal
grandfather of V. S is the mother-in-law of Y. T is the only son of Y. X is the sister of Z.

frafifed SFeRt o1 wryde siwmm S ok i i T usl & W §iferg)

T URAR H 316 S™- S, T, U, V, W, X, Y 3R Z 8] IRaR & i difear 81 uRar & #1E ted Sifyyias

%é’f%w UWHTHR I W, VHI I Z, VHITRIGI S, Y HI AN B I T, Y FISHAAIGA g | X, Z P g8
|

Q38. How many female members are there in the family?
uftaR & fora-t wfgar Hewa 87

(a) Three/ iG]

(b) Two /&l

(c) Four/dIR

(d) Five/ U

(e) None of these/ 70 J I3 ol

Q39. Who among the following is the niece of U?

FrafefEa & @ o u 3t ydisl/vish 22
(a) None ofthese/g_*lﬁ@ﬁéqﬁ
(b)T

(@S
(X
(e)V

Q40. How is S related to T?
s, T 9 {5 yoR Twfia g2
(a) Mother/ HIdI

(b) Grandmother/ FEEIGISI
(c) Daughter/ Q’?ﬁ

(d) Aunt/ 3fic

(e) None of these/ TTH A D15 ol
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Directions (41-46): Read the following pie charts carefully and answer the questions given
below. The pie chart (I) shows the percentage distribution of the total population (males and
females) in 2021 and 2022 together in five different villages. The pie chart (II) shows the
percentage distribution of the total population (males and females) in 2022 in these villages.

Total population 2021 Total population in
and 2022 together 2022= 2000
= 5400

mA
mA =B
= m®
- (m]¥]
ol mE
OE

Read the following pie charts carefully and answer the questions given below. The pie chart (I)
shows the percentage distribution of the total population (males and females) in 2021 and 2022
together in five different villages. The pie chart (II) shows the percentage distribution of the total
population (males and females) in 2022 in these villages.

Frafafad ga emaE &1 wFyd® sreaad &3 3R R AT e i & 3w <1 99 Sme (1) 2021
3R 2022 T UTH IET-SERT il § P ST (T3 3R Afgen &1 ufa=rd faavor qxfar 81 99
TAG (I1) 3 Tidl | 2022 B F& TGS (I 3R Afgan) &1 ufa=ra faavor gifar 21

2021 3ﬂT 2022 &1 Fa 2022 # Fo AAHEAT =
SHEAT = 5400 2000

mA
oE
oc
m
OE

14 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

Q41. The ratio of males to females in 2021 in village D is 9:4 and the total males in 2022 in the
village D is one-third of the males in 2021 in the same village. Find the difference between the
total females in 2021 and 2022 in village D.

g p ® 2021 W Toul 3R Afgars &1 Sgurd HUM: 9 : 4 § 3R 7 b H 2022 § Ho YUl B
H@HT 71T D H 2021 ® YEUI &1 =T &1 TP fagTs g1 71a D | 2021 3R 2022 & Fo Afgansi &
I 3R 19 Piforg|

(a) 105

(b) 120

(c) 110

(d) 100

(e) 145

Q42. Find the ratio between the total population in village B in 2022 to the total population in
village Cin 2021.

2022 W 7Td B &) o SHGIT $T 2021 T TG ¢ Pt A SIS A 3UTd FTd P

(a) 10:19

(b) 19:10

(c) 11:10

(d) 19:11

(e) 12:19

Q43. 60% of the total population in village E is illiterate, and the rest will be literate in 2022, If
the ratio between the literate population in 2022 and 2021 in village E is 5:2, respectively, then
the total illiterate population in 2021 is what percentage of the total literate population in 2022
in village E?

Td E B & TGS BT 60% FRER B, 3R AW 2022 # AT&R ) 1 | afe 7iq E H 2022 3R
2021 ¥ HI&R TGS & §19 T Ut S 5 : 2 8, df 2021 W $df fARER TEBI Md E |
2022 T $d A1&R TS PT fha-T Uia=id 872

(a) 41.5%

(b) 45.5%

(c) 40.5%

(d) 44%

(e)47.5%

Q44. Total males in village A in 2022 are 60% more than that in 2021, and the total females in
the village in 2022 are 200 less than that of males. The total females in village A in 2021 is what
percentage more or less than the total population in villages B in 2022 and 2021 together
(approx.).

2022 HTd A H A IO, 2021 Pt T H 60% 34w §, 3R 2022 ﬁﬂﬁﬁwtﬂ%m T Ul @
T H 200 FUE1 2021 H 79 A H Hol AfFAY, 2022 3R 2021 T TH AIY 7Td B Pt A ATESAT
¥ fram ufa=ra 3iftre a1 &0 82 (@14 |
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(a) 22%
(b) 32%
(c) 28%
(d) 25%
(e) 17%

Q45. Total population in village F in 2022 is 37.5% less than that in C. If the total population in
village F in 2021 and 2022 together is five more than half of the total population in village A in
2021, then find the average population in village F and village B in 2021.

2022 W 7Tq F B & SHGT C Pt $o SIS Dt a1 A 37.5% HH g1 AfS 2021 3% 2022 &
Td F ®t T S-S, 2021 6 Td A B Ho A0S & e A urg i 8, @ 2021 F G F
3R 71T B B} 3N SHESAT [T HISE|

(a) 365

(b) 345

(c) 355

(d) 370

(e) 390

Q46. Total population in village E in 2022 is how many more or less than the average population
in village E and B in 2021.

2022 B9 E $ & TTEGIT, 2021 9 E 3N B FI a0 5 A fra- sifte area 82
(a) 12

(b) 15

(c) 4

(d) 5

(e) 10

Q47.Ram and Shyam together can complete a work in 12 days. If Shyam takes 32 days more than
Ram to complete the work, then in how many days can Ram complete the whole work.?

I 3R zar fras faed & @1 12 AT § T 7 Td 81 afe T & v s AT |
32 f&=1 31 @vrd §, 91 70 $a BT & fpas & § T e adarg?

(a) 48
(b) 16
(c) 18
(d) 24
(e) 30

Q48. A man spends 20% of his monthly salary on house rent
and 25% of the remaining salary on his food. From his
remaining monthly salary, he spends on travelling and saves
in the ratio of 5:4, respectively. The difference between the

clejolO
amount he saved and the amount he spends on house rent is . . Q

Rs 3000. Find the monthly salary of the man (in Rs).

ALL EXAMS,
ONE SUBSCRIPTION.
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TS 3MTeH! St AR T BT 20% TR & fHIT TR Tl Hedl 8 3R T2 §T AT BT 25% TH W
T a1 g | T2 g HTRIS da # |, 98 TTAT 3R T2 UR SHHRT: 5:4 F 3UTd 1 @ Hear g | forat
TRT 98 T=Id a1 8 3R Rrat 7 a8 TR & fhre W @ H=a1 8, 379 & 37 3iav 3000 1
2| 3t # Wi a9 (Fual §) A B

(a) 45000

(b) 55000

(c) 50000

(d) 40000

(€) 60000

Q49. Rs X is distributed between ], K, L, and M. The amount received by J is 25% more than that
of L and the amount received by K is 40% less than that of ]. If the amount received by M is Rs
500 less than that of L and the difference between the amount received by ] and M is Rs 1000,
then find X.

X ¥9Y Bl |, K, L 3R M & 14 faaika feu oma €1 ) 1 ure i, L & vy 3fr A 25% 3ifie @
3R K &1 YT 1M ) & UTed 1A A 40% FH 21 Al M Y UTed MR L & YT IR F 500 0 $H
T 3fi¥ ) 3R M B! YT TR & o BT 3id¥ 1000 FUA §, Y X T PIorQ|

a) 4500

Eb%8400

(¢) 6600

(d) 5500

(€) 7500

Q50. The time taken by a boat to cover 120 km upstream in 15 hours and the boat can cover X
km downstream in 12 hours. If the speed of the boat in still water and the speed of the current
are in the ratio of 5:1, respectively, then find X.

TS A1 §RT YRT & Ufdpd 120 fodf @1 gt 90 F1 A 15 692 &1 90T TAT 8 9T 716 YRT &
3gpd X frel @t gt 12 U2 o 79 FX TPl g1 afe Wid oa | A1 Dt A TUT YRT Pt A P71
SUTd SHHRT: 5 : 18, d1 X BT M F1d BT

(a) 144

(b) 288

(c)72

(d) 90

(e) 108

Directions (51-55): Read the following bar graph carefully and answer the questions given
below. The bar graph shows total number of males and females together in four different cities
and the number of males in these cities.
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Q51. Total number of males in city A and C together is what percentage more or less than the
total number of females in B and D together?

TMER A 3R ¢ W Y6l 3 T BT, eR B 3R b W v A1y wfgansit & pa wen A fFa ufoze
HTI® a1 B §?

(a) 16.67%

(b) 32.5%

(c)8.33%

(d) 5.25%

(e) 33.33%

Q52. The total number of females in city X is 75% more than that in D. If the total number of
males and females in city X is thrice that of B, then find the difference between the total number
of males in cities A and X.

e X H ufeansi & o W MG D Bt a1 | 75% 3HfUd 31 afe e x A goul ok afganait
T o G=AT B B T T 8, 1 e A 3R X W YUl &1 Fa W& & A7 S FId BIfoe|

(a) 50

(b) 60

() 35

(d) 40

(e) 55

Q53. In city B, 3/4th of the total number of males owned car and total number of females who did
not own car is twice that of males. Find the number males and females together who owned cars
are how many more or less than those who did not owned car.

TTEX B U, @ YSUI Bl BT BT 3/441 fFRI1 & UG R g 3R o afgemst & v o= =81 8
S9! PA G-I TBUI 1 JBAT F SR 81 PR I\ a1 G U1 3R Afensit $t oa "=, 39
R & fpat ot a1 1 8 o e U #1R J81 82

a) 14

12

(c) 16

(d) 18

(e)8

Q54. The average number of females in cities A, C and E is 25, If the total number of males in city
E and city B is in the ratio of 3:4 respectively, then find the total number of males and females
together in city E.

TMEX A, C 3R E A uigarsii &t 3ivad T 25 8 1 afe 2ex E 3R e B A YUl B ot W= HH:
3 : 4 % UTA U g, T e E | G3UI 3R Afgarsi &1 $o 6= gid Siforg|

(a) 53

(b) 48

(c) 58

(d) 56

(e) 49
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Q55. Find the ratio of the total females in city A and B together to total males and females
together in city C.

e A 3R B H U A1y Fa Afansii ' T= &1 26 ¢ § oo 7oyl R afgansi #) v @
3rUTd e Bifore|

(a) 23:21

(b) 20:29

(c) 21:25

(d) 22:29

(e) 23:28

Q56. The age of A five years hence is equal to the age of B ten years ago. If the ratio of the ages of
A to B after four years is 8:13, then find the sum of the present ages of A and B (in years).

U 99 916 A Ft 3T, 39 T4 Ugd B P 3T & SRI&R 21 fS IR a9 a1 A 3R B BT Mg HT 3UTd
8: 13 8, Y A 3R B & adH Y BT AR (6] H) 19 BIfQ|

(a) 35 years / 35 GL

(b) 50 years / 50 4

(c) 55 years / 55 a4

(d) 20 years / 20 GL

(e) 40 years / 40 GL

Q57. A mixture contains milk and water in the ratio of 8:1, respectively. If 27 liters of mixture are
removed and 5 liters of water are added to the mixture, then the quantity of milk in the resultant
mixture becomes 16 liters. Find the initial quantity of water.

TS FYor & g 3R UT &7 SIUTd SHHRT: 8 : 1 81 afe frgor & 27 ditex fHera féar sime o= fygor
5 eifex urt fire fean wime, &t ufomed fysror § gu 5t AT 16 Wie? € ST @1 U 3 RS
AT J1d PIferg |

(a) 12 liters / 12 diex

(b) 4 liters / 4 Alex

(c) 5 liters / 5 dlex

(d) 9 liters / 9 dflex

(e) 14 liters / 14 Aflex

Q58. A and B started a business with investments of Rs 1800 and Rs (x-1800) respectively. After
nine months A, left and the profit share of B is Rs 1600 out of the total profit of Rs 3400. Find x.

A 3R B 7 SHHRT: 1800 UL 3R (x-1800) TUY & 1A% & ATY TP Sqawd YR+ fhar| -t W a1
A9 aaTg BYS T 3R 3400 TUA & FA ATH H A B BT a1 AT 1600 TUL B | x J1d Be |

(a) 3200

(b) 3000

(c) 1800

(d) 1200

(€) 2400
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Q59. The average weight of 48 students in a group is 63 kg. If 10 more students joined the group,
then the average weight decreased by 6 kg, then find the average weight of the 10 new students
in the group.

TS TYE H 48 BT BT 30d a9 63 frauma 1 afe 10 3R o= w9z & Wiva gt 9d €, a siva
o 6 fFaIuTH HU g1 SI1aT 8, 9 Igg W 10 ¢ BT &7 3RId goi- 71 BIfoTe|

(a) 29.6

(b) 21.5

(c) 23.2

(d) 24.5

(e) 28.2

Directions (60-64): In each of these questions a number series is given. In each series only one
number is wrong. Find out the wrong number.

379 | TS U T TP =T §Aa1 &1 718 € | AP Y&l § had Ueb ST e 8 | e ST [T
Pl

Q60. 38, 35, 70, 280, 1680, 13440, 134400
(a) 38

(b) 35

(c)70

(d) 280

(e) 1680

Q61.21, 28, 48, 75, 111, 156, 210
(a) 48

(b) 21

(c) 28

(d)111

(e) 210

Q62.109, 123, 146, 185, 249, 349, 488
(a) 349
(b) 185
(c) 488
(d) 109
(e) 123

Q63.1708, 1196, 853, 637, 512, 448, 444
(a) 444

(b) 1708

(c) 853

(d) 637

() 512
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Q64.175, 150,177,150, 179, 148, 181
(a) 181
(b) 150
(c)177
(d)179
(e) 148

Directions (65-69): In each of these questions, two equation (I) and (II) are given. You have to
solve both the equations and give answer

;ﬁéﬁmwﬁa’rw () 3R (1) RE e T | 3muep! S THiewwun &1 gd HAT 8 SR I
!

Q65.
.2x? —13x+20=0
I3y —16y+21 =0

(a) If x>y / afe X>y

(b) If x>y /3fd x=y

(c) If x<y /afe X<y

(d) If x<y /i x<y

(e) If x = y or no relation can be established between x and y / gfg x = y dl x 3R y & g ﬁ's‘ LR
T =TT fomaT o T &

Q66.
l.5x* —32x+35=0
I.4y* + 17y +18 =10

(a) If x>y / afg X>y

(b) Ifxzy /3f¢ x2y

(c) If x<y /afe X<y

(d) Ifx<y /TfG x<y

(e) If x = y or no relation can be established between x and y / Ifg x = y dl x 3R y & d ﬁ's“ BEL
R 8T fosa o Habal §

Q67.
l.x* —34x + 285 =0
Il y* — 40y +399 =0

(a) Ifx>y/ afg x>y

(b) If x>y /3l x2y

(c) If x<y /afe X<y

(d) If x<y / Tfd x<y

(e) If x = y or no relation can be established between x and y / gfg x = y 4l x 3R y & §g ﬁ's‘ qayY
RTfd =1t foaT o Teha @
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Q68.
Lx*—16x+63=0
ILy*—13y+42=0

(a) If x>y / afg X>y

(b) Ifxzy /3fd x=y

(c) If x<y /afe X<y

(d) If x<y / Tfc x<y

(e) If x = y or no relation can be established between x and y / gfg x = y dl x 3R y & g aﬁ% L]
Tfa T fopa S Tt B

Q69.
I x% X 4 = 64
I.y3 =216

(a) If x>y / afe X>y

(b) If x>y /3fd x=y

(c) If x<y /afe X<y

(d) If x<y / Tfd x<y

(e) If x = y or no relation can be established between x and y / gfg x = y dl x 3R y & g ?ﬁ_sc Y
w1 =&Y foan o Teha @

Directions (70-74): What approximate value will come in place of question mark (?) in the
following questions? (You are not expected to calculate the exact value)
FFrafefea uei o uyaras fag (7) & S IR T SFATT 7T STT? (SMTIR Tt T B0
P DI UL T8I B AT B)

Q70.

14.98% of 240 — 20.01% of 60 =7
240 & 14.98% — 60 &I 20.01% = 7
(a) 676

(b) 484

(c) 576

(d) 625

(e) 841

Q71.
24,12
299
(@)6
(b) 18
(c) 21
(d) 25
(e)7
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Q72 V19.12 x 45.01 — 14.01 =? —23.33

(a) 49
(b) 52
(c) 43
(d) 41
(e) 59

Q73 850.13 + 120.12 — 12.02%2 =7-3.1°

(a) 853
(b) 881
(c) 837
(d) 813
(e) 809

Q74.

1951 _, 450.1
— X —— =7x 499
499  15.02

(a) 243
(b) 234
(c) 221
(d) 207
(e) 298

Q75. A man invested Rs 20000 in two different schemes, i.e., A and B. Schemes A and B offer 10%
and 20% p.a. compound interest respectively for two years. If the ratio of the total amount
received by man from schemes A to B is 11:16, then find the amount invested in the scheme B.

U HAfRT A & STT-3eRT TISH13M, TTT A 3R B A 20000 U T (A< foram| AT A 3R B &Y
qul & 1T HHM: 10% 3R 20% Ufd a9 Thqfes TS UG Bl § | AfS AT A 3R B & dfad
RT U o MR BT 3UTd 11:16 , < Ao B | A= &1 15 iy 3@ Fiforw)

(2) Rs 9000 / 9000 T
(b) Rs 11000 / 11000 T
(c) Rs 14000 / 14000 3T
(d) Rs 8000 / 8000 ¥TY

(e) None of these / ESE R EIERE]
Q76. There are two schools, A and B, and the sum of total ALL EXAMS
males in school A and total females in school B is 160. The ONE SU BSCRIPT"ION

ratio of males in schools A and B is 2:3, and the ratio of
females in schools A and B is 3:4, respectively. If the difference

s[efolo
between the total males in schools A and B together and that y 4 Q ‘

of females is 60, then find the males in school B.
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31 IHd T A 3R B €, 3R Td A a1 Toul 3R ¥5d B H $a Afansii &7 a1 160 81 THd A
3R B H G&UI BT 3UTd 2 : 3 §, 3R Tpd A 3R B H Afgarsi &1 3rurd HUM: 3 : 4 81 Al ¥Fa
A 3R B Y T ToUI B BT 3R 15 A 3R B U F Afgansii #t W& & ot &7 3id¥ 60 &, d@
pd B H YUl P HBAT J1d Do

(a) 100

(b) 60

(c) 80

(d) 120

(e) 150

Q77. A man invested of Rs P in simple interest at R% p.a. for two years and received interest of
Rs 320. If he invested same sum in simple interest at 5% p.a. for 8 years and received amount of
Rs 2240, then find R.

U Ifad 9 P $UY BI &l U & T RY, U 9 G1YRUr so1et wR A= faam 3R 320 $U¢ same
W fopar | afe Iu= T iR Y 8 9ut & 1Y 5% ufa auf wreRor syrer wv fHaw f3an ik 2240
FUT o1 AR e o, <t R 1a B

(a) 20

(b) 8

(c) 15

(d)12

(e) 10

Q78. The cost price of article A is equals to selling price of the article B. if article A is sold at the
33 % % profit and article B is sold at the 50% profit and the sum of the cost price of article B and
selling price of article A is Rs. 672, then find the cost price of article A?

TE A 1Y ed I B b faehd Jed & SR1aR ¢ 1 UfS ag A B 332 9% AT TR ST Tl 8 3R v
B &1 50% ATH TR ST SI1d1 8 d4T a¥g B & 4 G4 3R a5g A & fIha Tea ST1A1T 672 $UA €, ot
T A BT 5T oI [Td PIfoC |

(a) Rs. 224 /224 394

(b) Rs. 336 /336 ¥0Y

(c) Rs. 380 /380 ¥UY

(d) Rs. 420 /420 304

(e) Rs. 448 /448 TY

Q79. The area of a rectangular field having length 128m and breadth 16m is equal to the area
of an isosceles right-angle triangle. If the radius of a sphere is 12%% of the hypotenuse of the
isosceles right-angle triangle, then find out the total surface area of sphere?

128 Hiex @S 3R 16 MR ANSTE a1 TP AT R ASH BT SAB A Th JHGATg THSI0T FAYs
& G & IRTER ¢ | Ufe T Tt it Biwan, wafgerg wHsIvn Biyst & Hof ot 12 9% @, dl Tt &1

o9 q¥Ia &% d F1d PIferg|
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(a) 512 m2/ 512m 91 Hiex
(b) 3431 m2/ 343m & HIe
(c) 580 m2/ 5807 &l Hlex
(d) 4947 m2/ 494m T Hie
(e) 500m m2/ 5007 91 Hiex

Q80. Train A crosses a 230m long platform in 29 seconds and train B crosses a 150m long
platform in 24 seconds. Train B which is 450m long crosses train A in 160 seconds, while running
in the same direction. Find how much time will the train A take to cross a 50m long bridge?

e A 230 Hier @d Wewid &I 29 Adhs W UR Hd! € 3R ¢ B 150 HieX @d Wewd of 24 THs
H UR Bt 81 31 B S 450 Hiew @dll €, T g1 f=m & gerd §U T A B 160 UHS W UR Hdt g
¢ A @1 50 Hiex dd §d &1 IR & J fora=r aag avm?

(a) 16 seconds / 16 Jqhs

(b) 22 seconds / 22 IHS

(c) 20 seconds / 20 Jqhs

(d) 17 seconds / 17 A S

(e) 25 seconds / 25 s

$1. Ans.(e)
Sol.
P D F QBGM H
L1 L1 1 1 L1 ] ] ] ] L1
—+r +r & . & & & &t &t & &+°&T.7
S2. Ans.(d)
Sol.
P D F Q BGM H
L1 L1 1 1 L1 ] ] ] ] L1
—+r +r & r & & & &t &t & &+°t&7
$3. Ans.(e)
Sol.
P D F Q BGM H
L1 L1 1 1 L1 ] ] ] ] L1
— 1 T T 1 —t 1 & & T T 1
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S4. Ans.(c)
Sol.
P D F QBGM H
[ T T N T T T R N NN A O A
| I [ N N B B N R
S$5. Ans.(e)
Sol.
] ] | | | | | | | ] | l | 1
| S I S I | I N I N N
$6. Ans.(c)

Sol. 463278293 = 242066082

S$7.Ans.(e)
Sol. “BIg Aal”
$8. Ans.(b)
Sol. 3ifaH TaRIT U=t B:
e GIEILC] =
S ECEi] 15 N
22 T
g 15 0
22 M
] 15 Q
22 R
R 15 P
22 g
g =t Wi Q & T ot v e ganr
S9. Ans.(e)
Sol. 3ifaH TaRT Tzt 6:
e antE T
S ECFi] 15 N
22 T
ad 15 0
22 M
EEIH 15 Q
22 R
Raar 15 P
22 g
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$10. Ans.(d)
Sol. 3ifaH AR Tzt B:
T aRkE CiEnl
LRl 15 N
22 T
e 15 0
22 M
ERlH 15 Q
22 R
Ry 15 p
22 g
“S, Pu
S$11. Ans.(c)
Sol. 3ifaH STTRIT Tzt B:
e arite e
Wast 15 N
22 T
e 15 0
22 M
s 15 Q
22 B
Ry 15 P
22 g
“RH
$12. Ans.(c)
Sol. 3ifaH STTRIT Tzt B:
o aRkg o
At 15 N
22 T
e 15 0
22 M
EGIH 15 0
22 R
oy 15 P
22 g
“M T o 30T Hala H g ur”
$13. Ans.(c)

Sol. 3ffcH SUTRIT et &:
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Adda247
E 10m D
5m
7m B
13m C
8m
F 8m G A
..q-@-qn
S$14. Ans.(d)
Sol. 3ifcrH TR Uzt B
E 10m D
5m
7m B
13m C
8m
F 8m G A
“36 ey
$15. Ans.(b)
Sol. 3ifaH sTa®T Tzt ©:
E 10m D
5m
7m B
13m C
8m
F 8m G A

“10 Hrex”
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k)
o
=
o
Q
o
O

Addal247/

$16. Ans.(e)

Sol.

GIEs: |

&

$17. Ans.(d)

Sol.

qen

$18. Ans.(b)

Sol.

GIEs: |

LEE
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$19. Ans.(b)
Sol.
L2 G
9 F
8 B
7 C
6 A
5 H
4 I
3 D
2 G
1 E
$20. Ans.(a)
Sol.
& GG
9 F
8 B
7 C
6 A
5 H
4 I
3 D
2 G
1 E
S21. Ans.(e)
Sol.
2\
SR -
(= () im)
qicy o
“"‘-\-\_\___-_-__.__//
S22. Ans.(b)
Sol.
— - ~—
v “Ex R ~
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Addal2417)

$23. Ans.(d)
Sol.

S24. Ans.(e)
Sol.

$25. Ans.(d)
Sol.

$26. Ans.(c)
Sol.

ALL EXAMS,
ONE SUBSCRIPTION.

ol0
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Google Play

$27. Ans.(e)
Sol.

$28. Ans.(e)
Sol.

$29. Ans.(d)
Sol. DONE, NODE

$30. Ans.(a)
Sol.

[. P> K (FA)
II. L <Q (3| <T)

$31. Ans.(d)
Sol.

.S<M (H9)
II. L>R ()

$32. Ans.(e)
Sol.

L.F>Z (3|A)
IL D < I (3rEe)
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$33. Ans.(c)
Sol. 3ifaH TawT U=t B:

B E G F C H D
frear A& T T gipg TAE e

“H"

S34. Ans.(d)
Sol. 3ifaH TawIT Tzt B:

B E G F C H D
fier W@l 9 T [ipg el Her

T o

$35. Ans.(e)
Sol. 3ifaH TaRIT U=t B:

B E G F C H D
diem WA A T Fibg Tdl Hren

“B 3R a8 =rfF PR NaT T wie g

$36. Ans.(d)
Sol. 3ifaH AR Tzt B:

B E G F C H D
frear e T T gipg TE e

MWH
.

$37. Ans.(c)
Sol. 3ifaH TaRT Tzt B:

| | | |
B E G F C H D
frer W@ @ W gibg T Frer
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Addal247)

$38. Ans.(c)

Sol. 3ifH TR T=t B:

S(-) 1|'(+} X(-)

U(+) W(+)==Y(")
V() —T(+)

$39. Ans.(e)

Sol. 3ifeH SHawT =t R:

S(-) 3|(+} X()

u(+) ‘ﬂl'V[+] —Y(-)
V() —T(+)

wy

$40. Ans.(b)

Sol. 3ifaT AT =t B:

S(-) 3|(+} X(-)

U(+) W(+)=Y(")
V(-) —T(+)

QTG AT AT

$41. Ans.(b)

Sol.

znzlaﬂunzzﬁmﬁﬁ.ﬁaﬁraﬂm

2000

@ms = 1890

mzzzﬁrm‘q’ﬁ.ﬁaﬂam T5g X 30 =600

mzmanaﬁ.ﬁgﬂam- 1890 — 600 = 1290
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34 U,
T 2021 52022 F | 2022 F qigf Y | 2021A G A
ICT] e T ATHEAT T SAAEEAT
FAEEAT

A 1890 6500 1290

B 210 500 310

C 1350 400 950

D 1080 300 780

E 270 200 70
2021 A 3G D H FET = 780 X = = 540
2021 # 71 D F AZET = 780 — 540 = 240
znzzﬁwhnﬁwziﬂ= 180
2022 #F 911g D F AGETV = 300 - 180 = 120
3refee 3ay = 240-120= 120
S$42. Ans.(a)
Sol.
201131‘1?2021#31?3.&.&@3?1@:% X 35 = 1890
Zﬂzzﬁﬂhhﬁgﬂm:% X 30 = 600
2011ﬁaﬁaﬁ.£r§_ﬁ{aﬂﬁw: 1890 — 600 = 1290
34T U,

T 2021 v 2022 F | 2022 F qigf #r | 2021A G A
LIC]] g T STATEAT T SAATEAT
FAEEAT

A 1890 6500 1290

B 210 500 310

C 1350 400 950

D 1080 300 780

E 270 200 70

3y 3HUTd = 500 : 950 = 10:19
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GET IT ON

Google Play

S$43. Ans.(e)

Sol.

2021 3 2022 # 7Ta A HT FHret ST = ﬂx 35 = 1890
2022 F 31ia A FT et STeTEEAT = ﬂxan—eﬂn

20219#%#.&@3314@: 1890 — 600 = 1290
3T USRI,

e 2021 AT 2022 F | 2022 7jgf #r | 2021 A g
LICT frxa T SAATEAT T AATEAT
SAEEAT
A 1890 600 1290
B 810 500 310
c 1350 400 950
D 1080 300 780
E 270 200 70
2022 ﬁﬂTﬁEﬂﬂﬁrﬁTﬁT 200 >< — =120
EDEEﬁﬂTﬁEﬂWWﬁT zﬂﬂxm 80
anlﬁﬂTIHEﬂiaTvr'ﬂT&T{= 80 x;= 32
2021 ﬁﬂTHEﬁaﬁrﬁTtﬁT= 70-32 = 38
Hsﬂntuﬁ‘al?r——x 100 = 47.5%
S$44. Ans.(c)
Sol.
2021 31T 2022 # 71T A T FFeT HeTeEAT = @ % 35 = 1890
2022 # Mia A FT FoT ST = ﬂ % 30 = 600
2021 H T A ﬁgﬂﬁﬂﬂ@f: 1890 — 600 = 1290
FUT U,
ic) 2021 31T 2022 & | 2022 F qigf #r | 2021# g A
LICH frFa Fo AT Fol ST
SAAEEAT
A 1890 600 1290
B 810 500 310
C 1350 400 950
D 1080 300 780
E 270 200 70
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AT 2021 # 3G A F ol JEUT ohl TEAT 5x &

2022ﬁ:ﬂ|‘q’.ﬁ.ﬁmm =5x xﬂ = Bx

2022 Hama A ﬁ;ﬁﬂﬁﬂﬂ?= 8x-200

EEGIGEIES

8x + 8x-200 = 600

16x = 800

* =50

2021 HIMT A ﬁgﬁ{ﬂﬁﬂﬁ= 1290 — 5 X 50 = 1040
Mﬂﬁﬂm=% % 100 = 28.3 & 280

$45. Ans.(c)

Sol.

2021 31 2022 F 7T A Y Fel AT = ﬂx 35 = 1890
2022 F 71d A &I Fel SAeTHEAT = ﬂxan—eun

2nz1irima'.ﬁ.rﬁrﬁmaﬂw: 1890 — 600 = 1290

34U,
T 2021 #X 2022 & | 2022 # 7igf # | 2021 A TigT A
mEr frga T AATEAT T AAREAT
AAEEAT
A 1890 600 1290
B 810 500 310
c 1350 400 950
D 1080 300 780
E 270 200 70

2022 ﬁﬁf{Fiﬁriﬁrm=gx 400 = 250
20213ﬂ?2022ﬁﬂ$ﬁﬂ?ﬁ'ﬁF£‘r3ﬁfm ﬂ+ 5 = 650
2021 ﬁﬂhFﬁ;ﬁﬂﬂﬁEﬂh 650 — 250 = 400

3rsfise 3fRra = 00 = 355

$46. Ans.(e)

Sol.

2021 31 2022 A AMTd A T Frel ST = ﬂx 35 = 1890
2022 F Nid A FT FeT STeTeeE = 2000 — X 30 = 600

2021?%.&#;%33@: 1890 — 600 = 1290
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TR,

T 2021 3R 2022 & | 2022 % qjgf #r | 2021 g H

T frga T AATEAT T SAATEAT
AAEEAT

A 1890 600 1290

B 810 500 310

c 1350 400 950

D 1080 300 780

E 270 200 70

sfse 37a¥ = 200 - 2272 = 200 — 190 = 10

S$47. Ans.(b)
Sol.

HIAT I EaRT o s &x g x e i

AR ez arT P I wEe x+32 A §
TN,

11 1

x x+32 12
x+32—|—x_ 1

2 +32x 12

24x + 384 = x% 4+ 32x
x*4+8x—384=0

x4+ 24x—16x—384=0
x(x+24)—16(x+24)=0
(x+24)(x—16) =0

x = —24,16

x =16

refee e = 16 fed

$48. Ans.(a)
Sol.

HATAT AT dde 100x §
HehTeT TohiTa 9 @ &l 715 AT = 100xX — = 20x

100

B STt R @ T 375 IR = (100x-20x)X — = 20x
3 G@RT a9 &l 375 T = (100x — 20x — 20x) X 2 = >

3
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TRATAER,
S50x
—— — 20x = 3000
20x
~ =3000
3
x = 450
313fise ddeT = 450 100 = 45000 FUT

$49. Ans.(e)
Sol.

meﬁdx%

125 _

K@mmﬂﬁ=5xxﬂ= Ix

100
M SaRT UTcd L = 4x-500
AT,
5x — (4x — 500) = 1000
x = 500
3750 AT = X= 4x + 5x + 3x + 4x — 500
X = 16x — 500
=7500

S50. Ans.(a)
Sol.

HTAT 2T STol & ATd ehl 1T AT &R 2hT F1Tcl HALT: 5a dAT a fhel/geT gl

WWJEZEE_Q

15
8 =4a
2=a
318ive 3= X=12 X (5a + a)
X=12X6a
X=12X6x2=144

S51. Ans.(a)

Sol. TETAH
W@Tqﬁwaﬁaﬁwm: 36
Ul &l Hel I = 14
AIGEISH ol pel TN = 36 - 14 = 22
5 UBR,
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IMET gt AT i AT Fa | At Hr

Aftaratdr | g=aT o el
U WA T
HEaT

A 36 14 22

B a4 20 24

c 56 36 20

D 64 28 36

2AGT A HHIX C 3 Ueh T2l T eh gl TN = 14+36=50
26X B 31X D 3 va wrr ATGesi i Fer T = 24 + 36 = 60
3t ufdera = 2222 x 100 = 16.67%

&0

S$52. Ans.(e)
Sol. BT A H
oY 3R Afgarsii @ $d We = 36
3N &l ol TS = 14
Tfgcrafi &l pod WS = 36 - 14 = 22
3t UDR,
M AL IC8 qosi Frga | Afgenst
Afgamatfr | wEm Tl TE&AT
UF W T
o)
A 36 14 22
B 44 20 24
C 56 36 20
D 64 28 36

96T X 7 AT 1 T FEAT = X 36 = 63

100
MG X geul 3 AIGe3T hl Fol T = 3x44 = 132
MG X 7 TEuT T Fel TEAT= 132 — 63 = 69
HISE HAT=69 — 14 =55

$53. Ans.(a)

Sol. AEAH

oI 3R Higanaf &1 $d T = 36
oW &l ol TR = 14
Tfgcsfl & $d WS = 36 - 14 = 22
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IHT UDR,
I At | g | Afgenat &

Afgaat fr | wEAT T HE&dT
UF WY el
=T

A 36 14 22

B 44 20 24

C 56 36 20

D 64 28 36

31 Q& &Y ol AT fofeieh AR R B == X 20 = 15

31 Gl &l ol AT foleich G SR 61 § = X 20 = 5
IoT AT &l el TEAT fofeleh T SR 81 6 = 5X 2 = 10
3ol ATGeN3iT eh el T Foleldh IR SR § = 24— 10 = 14
Iefee HAW=(15+14) — (54 10) = 14

S$54. Ans.(b)
Sol. AEIAH
oo 3R Afgeell & ot WS = 36
S &l ol TR = 14
Tfgctafi & fod ST = 36 - 14 = 22
IHT UPR,
IR RE AR | EEidrge | Afganid
Afgamatd | w=w Fo Tl
T WA T
e
A 36 14 22
B 44 20 24
c 56 36 20
D 64 28 36

G A, C 3R E A ARG i et T&AT = 25 X 3 = 75
X E H AGeN3T ol ool TEAT = 75-(22+20) = 33

G E A G oh ool TEAT=20 X = = 15
3o T = 15 + 33 = 48
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S$55. Ans.(e)
Sol. XEXA Y
TN 3R Afgersll &1 o T = 36
3N Bl Hof T = 14
Tfarsil &l ol WS = 36 - 14 = 22
IHT TR,
Eirey go§i AT wEidrEe | Afgani $r
Afgamst fr | wEaT Fo HE&dT
TS Y F
irc)|
A 36 14 22
B 44 20 24
C 56 36 20
D 64 28 36
T 3JUId = (22+24) :56
=46:56
=23:28
$56. Ans.(c)
Sol.
AT A 31X B &1 ac#Tet HIY FHA: a b ad &
R GRS
a+5=>b—-10
15=b—a..(i)
iR
at+4 8
b+4 13
13a + 52 = 8b + 32
8b — 13a = 20 ... (if)
(i) o (i) T
a=20,b=35
3sfI5e AL = 20 + 35 = 5599
$57. Ans.(c)
Sol. AT YR 301 & g 3R UTHI &1 {1 SHHRT: 8a 3R a A &1
TATTHETY,
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8
(8{1—2?){6)= 16

8a =16 + 24
B8a = 40
a=275

OTaAT hl YRS ATAT = 5 oile]

$58. Ans.(b)
Sol.
EEGIG IR
1800 % 9 _ 1800

(x —1800) x 12 1600
1200 = x — 1800

3000 =x
$59. Ans.(e)
Sol.

48 STAT &1 Fof Ttel = 48 X 63 = 3024 Feiimm
58 BT &1 el dofel = 58 X (63 — 6) = 3306 Frems
37afise gofer = 2287302 _ Ha o Tpeand

10

$60. Ans.(a)
Sol. TTAd &7 = 38

AT B U =0 T &
35, 35, 70, 280, 1680, 13440, 134400

x1 2 x4 6 X B X 10

$61. Ans.(c)
Sol. TTdd &7 = 28

ST BT UcH =8 T 2

21, 30, 48, 75, 111, 156, 210

49 +18 +27 +36 +45 +54

$62. Ans.(c)
Sol. TTdTd I = 488

ST BT UeH =8 T 2
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109, 123, 146, 185, 249, 349, 498

14 23 39 64 100 149

$63. Ans.(a)
Sol. TTATd TJAT = 444
ST BT U =9 T £

1708, 1196, 853, 637, 512, 448, 421
512 343 216 125 64 27
g3 73 63 53 43 33

S64. Ans.(b)
Sol. TTcTd TS =
SR BT U =9 T £

175, 152, 177, 150, 179, 148, 181

-23 +25 =27 +29 -31 +33

$65. Ans.(e)
Sol.

.2x*—13x+20=0
2x2—8x—5x+20=0
2x(x —4)—-5(x—4)=0
(2x—5)(x—4)=0

5

x=—,4
2

.3y — 16y +21 =0
3y —9y—T7y+21=0
3y(y—-3)-7(y—-3)=0
(y—3)3y—-7)=0

7

=3’—
Y= 23

AT, AT x 3T y & dI T HIs Tae Tnfid 61 o ST asharg |

$66. Ans.(a)
Sol.
.5x*—32x+35=0
5x> —25x—7x+35=0
Sx(x—5)—7(x—5)=0
(5x—7)(x—5)=0

7

-l
75
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Il.4y* + 17y +18 =10
4y* +8y+9y+18=0
dy(yv+2)+9y+2)=0
(yv+2)4y+9)=0

9

= —2’——
Y 4

Eiﬂiaﬂ, K=y

S$67. Ans.(d)
Sol.

l.x*—34x +285=0

x* —19x —15x +285=10
x(x—19)—15(x—19) =0
(x —19)(x—15) =10

x =19,15

Il.y* —40y+ 399 =0
y?—19y — 21y +399=0
vy —19)-21(y—19) =0
(y—19)(y—21)=0
y=19,21

SHIT, x<y

$68. Ans.(b)

Sol.
Lx*—16x+63 =0
x?—7x—9x+63=0
xx—7)—9(x—7)=0
(x—7)x—9)=0
x=79
.y —13y+42=0
yi—6y—T7y+42=0
vy —6)—7(y—6)=0
(y—6)y—-7)=0

v=7,6
sqfelT, x>y
$69. Ans.(c
S69. Aus(d | Prime
l.x% X 4 =64
x® =16 ALL EXAMS,
x =—4,4 ONE SUBSCRIPTION.

I.y* =216 s —

E?ﬁiaﬂ, K=y
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$70. Ans.(c)
Sol.

240 FT 15% — 60 T 200% = 2
36— 12 =17
576=?

$71. Ans.(a)
Sol.

24
?‘F V16 =7 2

6 =7

S$72. Ans.(b)

Sol.
V19 ¥ 45— 14 =7-23
29 =7-23
52 =7

$73. Ans.(a)

Sol.
850.13 + 120.12 — 12.02% =7 —3.1°
853 =7

S$74. Ans.(b)
Sol.
2 xE =7x5
5 15
1170=7x 5

234 =7

$75. Ans.(b)
Sol.

AT AT A 3R 3141 B & fAder &1 715 Tfer Faen: « T3 311 (20000-%) THAE
2raTeTT A 3 Tl Thdalar st = (10 + 10 + 2250 0 = 2195

100

2T B 3 T TRl samet = (20 + 20 + 2220 o = 4404

100

EEGIGEIES

121

100" * _ 11
144 16
100 X (EDDUU — x]
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121x 11
144 x (20000 —x) 16
11x = 180000 — 9x

20x = 180000

x = 9000

ratelt B # fordrer &r a5 1fer = 20000 — 9000 = Rs 11000

$76. Ans.(d)
Sol.

AT et A IR B 7 aet T8 el 2x 3R 3x @

T Fhel A 3R B # AR shaver: 3y AT ay ¥

AR,

5x — 7y =60..(i)
iR

2x + 4y = 160 ... (ii)
(i) o (i) &

x =40y =20

313 989 = 3x = 120

$77. Ans.(e)
Sol.
TR,

5
P+PxXx——x8=2240
100

40P
P+— =2240
100
140P = 224000
P = 1600
R & HTA = 320x100 =10
1600x=2

$78. Ans.(b)
Sol.

HIAT I B T o Hod = 100x F9T

3:, I B & I 7o = 150x T99

3, TEJ A BT T HeT = T, 150x

31ct:, I A B Taha Hed = X 150x = 200x T
R,

200x + 100x = 672 TA

x=22 =224 %

300

IAd:, At AhT sh T Hedl = 150 X 2.24 = 336 TG
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$79. Ans.(a)
Sol.

HIoll HHEJATE THDIOT 37T T TR 3R F415 2 A B
3z, SHHT BT my/2 AT

HHC AT FHBIVT AR T &TATHS = 128 X 16
>XaXa =2048 T HE

a? = 4096.

a=64 HIeX

3:, SEHTHIT = 644/2 HleT

@, A= 1 x 642

=82 Hrex

ITeT ST el JEOIT 8T = 47 X 8v/2 X 82
=512 a1 Hiex

$80. Ans.(c)
Sol.

HATAT ol A T o1aTs = | Hiex
damT e AFr AT = s derdas
TR,

g drarfa = 2=

= 25 Hley/Ads
SAARIAM, s =2 (i)

_ 450+l
Hd,25 -5 = o0

450+1

§=25-——— ...{ii)

(i) T (ii) T Fol ol W

1+450 1+230
=25 ———
160 29

-ss0 e ) Prime.

ﬁ ,aﬂ-ﬁ. Eﬁrﬂ_ﬁ_: 35024:30

= 20 HIe/HFS ONEASLSS;,(?};\?ST\ON
37afree Ty = 150450 .
20

=20 s CD
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